

$$\begin{aligned}
 A[1.19] \int \frac{dx}{4-x^2-4x} &= - \int \frac{dx}{x^2+4x-4} = - \int \frac{dx}{(x+2)^2-8} = \int \frac{dx}{8-(x+2)^2} \\
 &= \frac{1}{8} \int \frac{dx}{1-\left(\frac{x}{\sqrt{8}}+\frac{2}{\sqrt{8}}\right)^2} = \frac{1}{\sqrt{8}} \int \frac{d\left(\frac{x}{\sqrt{8}}+\frac{2}{\sqrt{8}}\right)}{1-\left(\frac{x}{\sqrt{8}}+\frac{2}{\sqrt{8}}\right)^2} = \frac{1}{\sqrt{8}} \operatorname{Arctgh} \left(\frac{x}{\sqrt{8}}+\frac{2}{\sqrt{8}}\right) + C
 \end{aligned}$$

$$= \frac{1}{\sqrt{8}} \frac{1}{2} \log \left| \frac{1+\frac{x+2}{\sqrt{8}}}{1-\frac{x+2}{\sqrt{8}}} \right| + C = \frac{1}{\sqrt{8}} \frac{1}{2} \log \left| \frac{x+2+\sqrt{8}}{\sqrt{8}-(x+2)} \right| + C$$

$$\begin{aligned}
 \left[ = - \int \frac{dx}{(x+2)^2-8} = - \int \frac{dx}{(x+2-\sqrt{8})(x+2+\sqrt{8})} \right] &= - \frac{1}{2\sqrt{8}} \left( \int \frac{dx}{x+2-\sqrt{8}} - \int \frac{dx}{x+2+\sqrt{8}} \right) \\
 &= - \frac{1}{2\sqrt{8}} \log \left| \frac{x+2-\sqrt{8}}{x+2+\sqrt{8}} \right| + C = \frac{1}{2\sqrt{8}} \log \left| \frac{x+2+\sqrt{8}}{x+2-\sqrt{8}} \right| + C = \frac{1}{2\sqrt{8}} \log \left| \frac{x+2+\sqrt{8}}{\sqrt{8}-(x+2)} \right| + C,
 \end{aligned}$$

$$(*) : \frac{1}{(x-p)(x+p)} \underset{p \neq 0}{=} \frac{A}{x-p} + \frac{B}{x+p} = \frac{1}{2p} \left( \frac{1}{x-p} - \frac{1}{x+p} \right) \left[ \underset{x=\pm p}{=} A(x+p) + B(x-p) \Rightarrow A = \frac{1}{2p} = -B \right]$$

$$A [1.19 \eta] \int \frac{3x-1}{4x^2-4x+17} dx = \frac{1}{4} \int \frac{3x-1}{x^2-x+\frac{17}{4}} = \frac{1}{4} \int \frac{3x-1}{(x-\frac{1}{2})^2+4} \quad \text{[S-A/L]}$$

$$= \frac{1}{4} \left[ \frac{3}{2} \int \frac{2x-1}{(x-\frac{1}{2})^2+4} dx + \frac{1}{2} \int \frac{dx}{(x-\frac{1}{2})^2+4} \right] = \frac{3}{8} \log \left| (x-\frac{1}{2})^2+4 \right|$$

$$+ \frac{1}{8} \frac{1}{4} \int \frac{dx}{(\frac{x-\frac{1}{4}}{2})^2+1} = \dots + \frac{1}{16} \int \frac{d(\frac{x-\frac{1}{4}}{2})}{(\frac{x-\frac{1}{4}}{2})^2+1} = \frac{3}{8} \log \left| (x-\frac{1}{2})^2+4 \right|$$

$$+ \frac{1}{16} \operatorname{Arctg} \left( \frac{x-\frac{1}{4}}{2} \right) + C = \frac{3}{8} \log \left| 4x^2-4x+17 \right| + \frac{1}{16} \operatorname{Arctg} \left( \frac{2x-1}{4} \right) + C$$

$$\left[ \Rightarrow \left( \frac{3}{8} \log \left| 4x^2-4x+17 \right| + \frac{1}{16} \operatorname{Arctg} \left( \frac{2x-1}{4} \right) \right)' = \frac{3}{8} \frac{8x-4}{4x^2-4x+17}$$

$$+ \frac{1}{16} \frac{1}{1+\frac{(2x-1)^2}{16}} \frac{2}{4} = \frac{3x-\frac{3}{2}}{4x^2-4x+17} + \frac{1}{2} \frac{1}{4x^2-4x+17} \quad \left. \right]$$

$$A [1-20 \beta] (\mu z \alpha=1, \beta=2) \int \frac{x^3}{(x-1)^2(x-2)} dx = I \quad \boxed{3-A/\beta}$$

$$(x-1)^2(x-2) = (x^2 - 2x + 1)(x-2) = x^3 - 2x^2 + x - 2x^2 + 4x - 2$$

$$= x^3 - 4x^2 + 5x - 2 \Rightarrow x^3 = (x-1)^2(x-2) + 4x^2 - 5x + 2$$

$$\Rightarrow I = \int dx + \int \frac{4x^2 - 5x + 2}{(x-1)^2(x-2)} dx = x + A \log|x-1| - B \frac{1}{x-1} + C \log|x-2| + c$$

$$\text{όπου} \quad \frac{4x^2 - 5x + 2}{(x-1)^2(x-2)} = \frac{A}{x-1} + \frac{B}{(x-1)^2} + \frac{C}{x-2}$$

$$\Rightarrow 4x^2 - 5x + 2 = A(x-1)(x-2) + B(x-2) + C(x-1)^2$$

$$\Rightarrow \begin{matrix} 4-5+2 & = & -B, & 16-10+2 & = & C, & 2 & = & A \cdot 2 - 2B + C \\ x=1,2,0 \end{matrix}$$

$$\Rightarrow B = -1, C = 8, A = \frac{2 - C + 2B}{2} = \frac{-6 - 2}{2} = -4$$

$$\Rightarrow I = x - 4 \log|x-1| + \frac{1}{x-1} + 8 \log|x-2| + c$$

$$\left[ = x - \frac{1}{1-2} \frac{1}{x-1} + \frac{2-6}{(1-2)^2} \log|x-1| + \frac{2^3}{(1-2)^2} \log|x-2| + c \right]$$

$$A [1.218] \int \frac{x^2+1}{x(x^2+4)} dx = I$$

$$\boxed{3-A/4}$$

$$\frac{x^2+1}{x(x^2+4)} = \frac{A}{x} + \frac{Bx+C}{x^2+4} \Rightarrow x^2+1 = A(x^2+4) + (Bx+C)x$$

$$\Rightarrow 1 \cdot x^2 = (A+B) \cdot x^2, \quad 0 \cdot x^1 = C \cdot x, \quad 1 \cdot x^0 = 4A$$

$$\Rightarrow A = \frac{1}{4}, \quad B = \frac{3}{4}, \quad C = 0$$

$$\begin{aligned} \Rightarrow I &= \frac{1}{4} \left( \int \frac{dx}{x} + 3 \int \frac{x}{x^2+4} dx \right) = \frac{1}{4} \left( \log |x| + \frac{3}{2} \log |x^2+4| \right) + c \\ &= \frac{1}{8} \log \left( x^2 (x^2+4)^3 \right) + c \end{aligned}$$

$$A[1.34 \varepsilon] \int \operatorname{Arzsin} \sqrt{\frac{x}{x+1}} dx$$

3-A/5

$$= x \operatorname{Arzsin} \sqrt{\frac{x}{x+1}} - \int x \frac{1}{\sqrt{1-\frac{x}{x+1}}} \cdot \frac{1}{2} \sqrt{\frac{x+1}{x}} \cdot \frac{1}{(x+1)^2} dx$$

$$= x \operatorname{Arzsin} \sqrt{\frac{x}{x+1}} - \frac{1}{2} \int \frac{\sqrt{x}}{x+1} dx$$

$$- \frac{1}{2} \int \frac{\sqrt{x}}{x+1} dx = - \int \frac{x}{x+1} \cdot \frac{1}{2\sqrt{x}} dx \stackrel{y=\sqrt{x}}{=} - \int \frac{y^2}{y^2+1} dy = -y + \int \frac{dy}{y^2+1}$$

$$= -\sqrt{x} + \operatorname{Arctan} \sqrt{x} + c$$

$$\Rightarrow \int \operatorname{Arzsin} \sqrt{\frac{x}{x+1}} = x \operatorname{Arzsin} \sqrt{\frac{x}{x+1}} - \sqrt{x} + \operatorname{Arctan} \sqrt{x} + c$$

$$A [1.34 \eta] \int \frac{\text{Arctg } x}{x^2(1+x^2)} dx$$

$$\int \frac{dx}{x^2(1+x^2)} = \int \frac{dx}{x^2} - \int \frac{dx}{x^2+1} = -\frac{1}{x} - \text{Arctg } x + C$$

$$\left[ \frac{1}{x^2(1+x^2)} = \frac{A}{x} + \frac{B}{x^2} + \frac{\Gamma x + \Delta}{1+x^2} \right.$$

$$\begin{aligned} \Rightarrow 1 &= A(x+x^3) + B(1+x^2) + (\Gamma x + \Delta)x^2 \\ &= (A+\Gamma)x^3 + (B+\Delta)x^2 + Ax + B \end{aligned}$$

$$\Rightarrow A = \Gamma = 0, B = -\Delta = 1 \Rightarrow \left. \frac{1}{x^2(1+x^2)} = \frac{1}{x^2} - \frac{1}{x^2+1} \right]$$

$$\begin{aligned} \Rightarrow \int \frac{\text{Arctg } x}{x^2(1+x^2)} dx &= -\left(\frac{1}{x} + \text{Arctg } x\right) \text{Arctg } x \\ &+ \int \left(\frac{1}{x} + \text{Arctg } x\right) \frac{1}{1+x^2} dx \end{aligned}$$

$$\int \frac{\operatorname{Arctg} x}{1+x^2} dx = \frac{1}{2} \int (\operatorname{Arctg}^2 x)' dx = \frac{1}{2} \operatorname{Arctg}^2 x + C, \quad \boxed{B-A/7}$$

$$\left[ \frac{1}{x(1+x^2)} = \frac{A}{x} + \frac{Bx+\Gamma}{1+x^2} \Rightarrow 1 = A + Ax^2 + Bx^2 + \Gamma x \right]$$

$$\Rightarrow A=1, B=-1, \Gamma=0 \Rightarrow \frac{1}{x(1+x^2)} = \frac{1}{x} - \frac{x}{1+x^2} \Rightarrow \left. \right]$$

$$\int \frac{dx}{x(1+x^2)} = \int \frac{dx}{x} - \int \frac{x}{1+x^2} dx = \ln|x| - \frac{1}{2} \ln|1+x^2| + C$$

$$\Rightarrow \int \frac{\operatorname{Arctg} x}{x^2(1+x^2)} dx = -\frac{\operatorname{Arctg} x}{x} - \frac{1}{2} \operatorname{Arctg}^2 x + \ln \frac{|x|}{\sqrt{1+x^2}} + C$$

$$\begin{aligned}
 A [1.34 \delta] \quad \int x \operatorname{Arc} \sin x^2 dx &= \frac{1}{2} \int 2x \operatorname{Arc} \sin x^2 dx = \quad \boxed{3-A/8} \\
 &= \frac{1}{2} \int \operatorname{Arc} \sin y dy = \frac{1}{2} \left( y \operatorname{Arc} \sin y - \int \frac{y}{\sqrt{1-y^2}} dy \right) \quad \begin{array}{l} y=x^2 \\ dy=2x dx \end{array} \\
 &= \frac{1}{2} \left( y \operatorname{Arc} \sin y + \sqrt{1-y^2} \right) + C \\
 &= \frac{1}{2} \left( x^2 \operatorname{Arc} \sin x^2 + \sqrt{1-x^4} \right) + C
 \end{aligned}$$

$$\begin{aligned}
 A [1.34 \sigma] \quad \int \operatorname{Arc} \operatorname{tg} (1+\sqrt{x}) dx &= x \operatorname{Arc} \operatorname{tg} (1+\sqrt{x}) - \int x \frac{1}{1+(1+\sqrt{x})^2} \frac{1}{2\sqrt{x}} dx \\
 &= x \operatorname{Arc} \operatorname{tg} (1+\sqrt{x}) - \int \frac{(\sqrt{x}+1-1)^2}{1+(1+\sqrt{x})^2} \frac{1}{2\sqrt{x}} dx \\
 &= \underset{y=1+\sqrt{x}}{x} \operatorname{Arc} \operatorname{tg} (1+\sqrt{x}) - \int \frac{(y-1)^2}{1+y^2} dy
 \end{aligned}$$

$$\int \frac{(y-1)^2}{1+y^2} dy = \int \frac{y^2+1-2y}{1+y^2} dy = y - \int \frac{2y}{1+y^2} dy = y - \log |1+y^2| + C$$

$$\Rightarrow \int \operatorname{Arc} \operatorname{tg} (1+\sqrt{x}) dx = x \operatorname{Arc} \operatorname{tg} (1+\sqrt{x}) - \sqrt{x} + \log |1+(1+\sqrt{x})^2| + C$$



A [1.343]  $\int \frac{\text{Arc sin } x}{x^2} dx = -\frac{\text{Arc sin } x}{x} + \int \frac{dx}{x\sqrt{1-x^2}}$  [3-A/9]

$\int \frac{dx}{x\sqrt{1-x^2}} \stackrel{x = \sin \vartheta, \vartheta \in (-\frac{\pi}{2}, \frac{\pi}{2})}{dx = \cos \vartheta d\vartheta} = \int \frac{\cos \vartheta d\vartheta}{\sin \vartheta \cos \vartheta} = \int \frac{d\vartheta}{\sin \vartheta}$

$\left[ = \int \frac{d\vartheta}{2 \sin \frac{\vartheta}{2} \cos \frac{\vartheta}{2}} = \int \frac{d\vartheta}{2 \text{tg} \frac{\vartheta}{2} \cos^2 \frac{\vartheta}{2}} \stackrel{y = \text{tg} \frac{\vartheta}{2}}{=} \int \frac{dy}{y} = \log |y| + c \right] = \log \left| \text{tg} \frac{\vartheta}{2} \right| + c$  ↙ 118. [1.14]

μz  $\text{tg} \frac{\vartheta}{2} = \frac{\sin \frac{\vartheta}{2}}{\cos \frac{\vartheta}{2}} = \frac{\sin \vartheta}{2 \cos^2 \frac{\vartheta}{2}} = \frac{\sin \vartheta}{\cos \vartheta + 1} = \frac{\sin \vartheta}{1 + \sqrt{1 - \sin^2 \vartheta}} = \frac{x}{1 + \sqrt{1 - x^2}}$

$\Rightarrow \int \frac{\text{Arc sin } x}{x^2} dx = -\frac{\text{Arc sin } x}{x} + \log \left| \frac{x}{1 + \sqrt{1 - x^2}} \right| + c$

$= \frac{x(1 - \sqrt{1 - x^2})}{1 - (1 - x^2)}$   
 $= \frac{1 - \sqrt{1 - x^2}}{x}$

A [1.35α]  $\int \sqrt{e^x - 1} dx = \int y \frac{2y}{y^2 + 1} dy$

$= 2 \int \frac{y^2 + 1}{y^2 + 1} dy - 2 \int \frac{dy}{y^2 + 1}$

$= 2(\sqrt{e^x - 1} - \text{Arctg} \sqrt{e^x - 1}) + c$

$y = \sqrt{e^x - 1}$   
 $\frac{dy}{dx} = \frac{1}{2y} (e^x - 1) dx$

$$A [1.35 \gamma] \int \frac{x \cos x}{(x \sin x + \cos x)^2} dx$$

[3-A/10]

$$f(x) = x \sin x + \cos x \Rightarrow f'(x) = \sin x + x \cos x - \sin x = x \cos x$$

$$\Rightarrow \int \frac{x \cos x}{(x \sin x + \cos x)^2} dx = \int \frac{f'(x)}{f^2(x)} dx = -\frac{1}{f(x)} + c = -\frac{1}{x \sin x + \cos x} + c$$

$$A [1.35 \beta] \int \frac{x e^x}{\sqrt{1+e^x}} dx$$

$$\int \frac{e^x}{\sqrt{1+e^x}} dx \stackrel{y=e^x}{=} \int \frac{dy}{\sqrt{1+y}} = 2\sqrt{1+y} + c = 2\sqrt{1+e^x} + c$$

$$\Rightarrow \int \frac{x e^x}{\sqrt{1+e^x}} dx = 2x \sqrt{1+e^x} - 2 \int \sqrt{1+e^x} dx$$

$$\begin{aligned} \int \sqrt{1+e^x} dx &= \int \frac{\sqrt{1+e^x}}{e^x} e^x dx \stackrel{y=e^x}{=} \int \frac{\sqrt{1+y}}{y} dy = \int_{z=\sqrt{1+y}} \frac{2z^2}{z^2-1} dz \\ &= 2z + 2 \int \frac{dz}{z^2-1} = 2z - \log \left| \frac{z+1}{z-1} \right| + c = 2\sqrt{1+e^x} + \log \frac{\sqrt{1+e^x}-1}{\sqrt{1+e^x}+1} + c \end{aligned}$$

$$\Rightarrow \int \frac{x e^x}{\sqrt{1+e^x}} dx = (2x-4)\sqrt{1+e^x} + 4 \log(\sqrt{1+e^x}+1) - 2x + c$$

$$A [1.35] \int x \log(1+x^3) dx = \frac{1}{2} x^2 \log(1+x^3) - \frac{1}{2} \int x^2 \frac{3x^2}{1+x^3} dx \stackrel{|3-A/M}{}$$

$$\frac{x^4}{1+x^3} = \frac{x(x^3+1) - x}{1+x^3} = x - \frac{x}{1+x^3} = x - \frac{x}{(x+1)(x^2-x+1)} =$$

$$= x - \frac{x}{(x+1)\left(\left(x-\frac{1}{2}\right)^2 + \frac{3}{4}\right)} = x - \frac{A}{x+1} - \frac{Bx+C}{x^2-x+1}$$

$$\mu \left\{ \begin{array}{l} x = A(x^2-x+1) + (Bx+C)(x+1) \Rightarrow A+B=0, A+C=0, -A+B+C=1 \\ \Rightarrow B=C=-A = \frac{1}{3} \Rightarrow \frac{x^4}{1+x^3} = x + \frac{1}{3} \frac{1}{x+1} - \frac{1}{3} \frac{x+1}{x^2-x+1} = \end{array} \right.$$

$$\Rightarrow B=C=-A = \frac{1}{3} \Rightarrow \frac{x^4}{1+x^3} = x + \frac{1}{3} \frac{1}{x+1} - \frac{1}{3} \frac{x+1}{x^2-x+1} =$$

$$= x + \frac{1}{3} \frac{1}{x+1} - \frac{1}{6} \frac{2x-1}{x^2-x+1} - \frac{1}{2} \frac{1}{x^2-x+1}$$

$$\Rightarrow -\frac{3}{2} \int \frac{x^4}{1+x^3} dx = -\frac{3}{2} \frac{x^2}{2} - \frac{1}{2} \log|x+1| + \frac{1}{4} \log|x^2-x+1|$$

$$+ \frac{3}{4} \int \frac{dx}{\left(x-\frac{1}{2}\right)^2 + \frac{3}{4}} = \dots - \dots + \dots + \int \frac{dx}{\left(\frac{2}{\sqrt{3}}\left(x-\frac{1}{2}\right)\right)^2 + 1}$$

$$\Rightarrow -\frac{3}{2} \int \frac{x^4}{1+x^3} dx = -\dots - \dots + \dots + \frac{\sqrt{3}}{2} \operatorname{Arctg} \left( \frac{2}{\sqrt{3}} \left(x - \frac{1}{2}\right) \right) + C \quad \text{[3-A/12]}$$

$$\Rightarrow \int x \log (1+x^3) dx = \frac{x^2}{2} \log (1+x^3) - \frac{3}{4} x^2 - \frac{1}{2} \log |x+1|$$

$$+ \frac{1}{4} \log |x^2-x+1| + \frac{\sqrt{3}}{2} \operatorname{Arctg} \left( \frac{2}{\sqrt{3}} \left(x - \frac{1}{2}\right) \right) + C$$

A [1.35 ε] (Σεπζ. 2010)  $\int \frac{1}{x\sqrt{x}} \log \frac{1}{1-x} dx = \int x^{-\frac{3}{2}} \log \frac{1}{1-x} dx$

$$= -2x^{-\frac{1}{2}} \log \frac{1}{1-x} + 2 \int \frac{1}{\sqrt{x}} (1-x) \left(-\frac{1}{(1-x)^2} (-1)\right) dx$$

$$= -\frac{2}{\sqrt{x}} \log \frac{1}{1-x} + 2 \int \frac{1}{\sqrt{x}} \frac{1}{1-x} dx = \underset{(*)}{-\frac{2}{\sqrt{x}} \log \frac{1}{1-x}} + 2 \log \left| \frac{\sqrt{x+1}}{\sqrt{x-1}} \right| + C$$

$$(*) : \int \frac{1}{\sqrt{x}} \frac{1}{1-x} dx \underset{y=\sqrt{x}}{=} 2 \int \frac{1}{1-y^2} dy = 2 \int \frac{1}{(1-y)(1+y)} dy = - \int \left( \frac{1}{y-1} - \frac{1}{y+1} \right) dy$$

$$= - \left( \log |\sqrt{x}-1| - \log |\sqrt{x}+1| \right) + C = \log \left| \frac{\sqrt{x}+1}{\sqrt{x}-1} \right| + C$$